151

0.010 ppm
0. 006ppm

86315

84326

0. 006ppm

0.010 ppm

0. 006ppm

0. 005 ppm

86320




195

0. 006ppm

0.010 ppm

75, 353

89, 196

62

0. 006ppm

0.020 ppm

89, 221

52

0. 006ppm

0.035 ppm




86, 174

(0.006ppm)

0. 010 ppm

86, 264

(0.006ppm)

0. 015 ppm

74

86, 267

(0.006ppm)

0.030 ppm




HIFEHLE3 \

=

Loy “x&x\

ppm

0. 025 83 34, 261

0. 005 0 60, 855

0. 015 138 89, 136

(0. 006ppN)




BIEHS3

ppm

0. 025 134 4 89, 224
0. 015 12 0 89, 236
(0.006ppm)

0.02ppm




HIEHGE

ppm

0. 005 17 0 39, 834

0.010 15 0 86, 320

0. 040 200 3 86, 331
(0.006ppm)

0.02ppm




T wears |

ppm
0.010 4 0 86, 417
0.010 8 0 89, 270
0. 015 431 0 89, 257
(0.006ppm)

0.02ppm




HIEHGE

ppm
0.010 485 86, 017
0. 005 0 86, 332
0. 015 111 86, 317
(0.006ppm)

0.02ppm




HIEHGE

ppm
0.010 34 89, 042
0 0 89, 098
0.010 11 89, 050
(0.006ppm)

0.02ppm




ppm

(0.006ppm)

0.02ppm




ppm

(0.006ppm)

0.02ppm




ppm

(0.006ppm)

0.02ppm




